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GENERAL INSTRUCTIONS TO THE EXAMINEES :
(1) cheneff gy 379 YT 9 AHis Afarda: ford |
Candidate must write first his / her Roll No. on the question paper compulsorily.
2) Wty s AFEEE |
All the questions are compulsory.
(3) e w9 o I & 1 -yt A € o |
Write the answer to each question in the given answer-book only.
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(4) fawwEi mﬁamﬁ,mmﬁ%aﬁtwmﬂ% I

For questions having more than one part, the answers to those parts are to be written

together in continuity.

(5) -1 % &) 9 i waracor # Rt wHR i gfe/ v/ g g w )y F ww
F A TAH |

If there is any error / difference / contradiction in Hindi & English versions of the

question paper, the question of Hindi version should be treated valid.

(6) W %1 IR foeraa A qd wei &1 i 39wy ford |

Write down the serial number of the question before attempting it.

qvE - A
SECTION - A
1. wgfwed e
Multiple Choice Questions :
(i) o afeaai & garen sfaew g s -
(31) afedi & wan
(¥) HSH % HER
(|) 3el 9 arema) % 9/ 3R
(3) & % wEn

In rural settlements circular pattern found - : 1
(A) Along nivers

(B) Along roads

(C) Around lakes and tanks

(D) Along canals
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(i) hwﬁmmﬁ?ﬁt ,

(%) 1 v 3 o i (@) 10 FTE Y 50 ARG FAEGAT
(®) 50 or@ A st sEEn (®) 1@ R 10 TR THEEH
What is the population of Mega City ? 1
(A) Population less than one lakh (B) 10 lakhs to 50 lakhs population
(C) Population more than 50 lakhs (D) 1 lakh to 10 lakhs population
(iii) “Fafrvagar” dween fra shafa i 2 7
() ey e @) Yo
(|) wem . o= (r) fE@-&-en=mwm
Who propounded the concept of “Neodeterminism” ? 1
(A) Griffith Taylor (B) Ratzel
(C) Ellen C. Semple (D) Vidal-de-la Blache
(iv) WaTq F1 379 HF & -
(31) Terffers gt () e I
() wemieEt (3) - T8 % g TR
Pull factor of Migration is — 1
(A) Political turmoil (B) Natural disasters
(C) Epidemics (D) Better job opportunities
(v) w3 A dagTfia di d vews e R I Fd AR @ aT wa R 7
(3) T TEMA Fe (®) - € g% wred
(|)" g e wreA (3) Fren gg= w1
Which organisation does the work of road construction in strategically sensitive
arcas ? 1

(A) State Highways Organisation
(B) Border Road Organisation

(C) National Highways Organisation
(D) District Road Organisation
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(vi) T 3meTia I R -

(31) HigaT FAm (F) V- Je

(|) =¥ 3 (2) oite-3eTa 3am
Knowledge based industry is —

(A) Software Industry (B) Petro-chemical Industries
(C) Sugar Industry (D) Iron and Steel Industry

(vii) Fafafea d @ de-ses w1 voR &

(1) feramee (@) Rfm

(W) TR (7) wewre

Which of the follov.;ing is a type of iron-ore ?

(A) Lignite (B) Uranium

(C) Haematite (D) Bauxite
(viii) T ) HEA 2 -

(3) = (@) T

@ " (), =T

Kharif crop is -

(A) Gram (B) Mustard

(C) Wheat (D) Rice

(ix) 2011 T AT o SFFHR F((0eh e ATl T A AR ?

(3%) e ST (@) femm

() aferTg (2), I

According to 2011 census, which state has the highest population density ?
(A) West Bengal (B) Bihar

(C) Tamil Nadu (D) Uttar Pradesh
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2. T wumi ) o hifdr

Fill in the blanks :

() fva & gsem Remara T

has the highest sex-ratio in the world. 1
(i) wrefie o ST ! HoieT Hed @ |
plantations in Brazil are called Fazenda. 1
(iii) WA & a1y REET 6 o3[ T A |
Air transport in India made a beginning in year 1
(iv) SEEW TauT % fu “onar o gae Srme” ToRH & et & w@rn
™ |
“Arwari Pani Sansad Program” for watershed management was conducted in
district of Rajasthan. 1
3. SAfaeTeTUeTE W
Very Short Answer Type Questions :
(i) EOR ¥ AR aE % @ 3ew A |
Give two examples of personal means of communication. 1
(i) et ST 58w ¥
What is retail trading ? 1
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(i) R ITdE & s s v ¥ 7
What do you understand by constant population ? 1
(iv) a9 Tt gft oo e 9 edrg gerdt F wRee & fore ahes ) g woneh IR SN 7

Which mode of transport would you suggest to transport liquid and gaseous

substances over a long distance ? :

TE-q
SECTION - B
ST T :

Short Answer Type Questions :

4. FA F I [l B a=9R F e a9 fe Tt A st @ @ geme 3 R Q)
Fat airat & 9w fafeae |

Which renewable energy resources would you suggest to save exhaustible sources of

energy ? Write the name of any two sources of energy. ) Yex2=1%

5 YRAHA “TT TR % 3 Igrew farfe |

Write two examples of “Mining Town” in India,

Yax2=1%
6. are s HH ol o fafg |
Write any two €CONOMIC consequences of Migration. Yex2=1% |
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7.. mﬁmqﬁ%ﬁﬁﬁm%mmmﬁmma?wﬁwﬁﬁm

ferfae |

Which factors do you consider responsible for the degradation of cultivable land ? Write

the name of any two factors. Yex2=1%
8. v afewt & fpef &yl ot seore v |
Mention any two types of rural settlement. Yex2=1%
9. . wafaeiia R A v aRT & 7
What do you understand by environmental determinism ? 14
10. e Yy F a1t € HIH! & AW e |
Write the names of two factors affecting tourism. Y%ax2=1%
11, grefror wfe 6 B & wEd T |
State any two problems of rural settlement. Yex2=1%
12 yﬁﬁ?ﬁﬁ%w#ﬁm%mw I
‘Write the names of any three sub-fields of economic geography. Yix3= 1Y,
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13 amga |7 =t W HIR |

Explain Outsourcing,.

14, “TFR" ¥ A9 R oHgR E 7

What do you understand by “Conurbation” ?

15. Hmra st 3t e sfe o amr w Sifv |

Differentiate between marginal worker and main worker.

@ig -4

SECTION-C

e Ity WA

Long Answer Type Questions :

16, “mﬁwﬁuwﬁ%—zom"ﬁweﬁng@ﬁﬁwﬁmmw.

Mention any three key features of the “Indian National Water Policy-2002”

a7r&1/OR
Tt i GEY & I3 A T ot |

Write any three advantages of rain water harvesting.
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three industries based on raw material. 1x3=3

JYET/OR

fafmor fedt e 3 f STHR R 31T e Q) e <Y e v |

Define manufacturing. Discuss any two industries based on size. 1+1x2=3

18: m@wqﬁaﬁq%mﬁq-ﬁqﬁ% ? g |
What are the components of population change ? Explain it. 1x3=3
441/ OR
W%Wﬁmmﬁmﬁmmm@aﬂwﬁﬁm |

Explain three economic factors affecting the distribution of population.

Qg -3
SECTION -D
s .

Essay Type Questions :
19, ¥R & <t Sl 1 srafufes o e 6t e saren S |

Explain in detail the location and distribution of Sugar Industries in India. 2x2=4
3941/0R
W H JETH Bt SRt it i e e el e et ) Ry e iftrg )

Discuss in detail any four factors affecting the location of industries in India. Ix4=4

T
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20, et Frafe $R 3 e arforey sy iy 1 gerTes e iR |
Make a comparison between intensjve subsistence agriculture and extensive commercial
grain farming. 1x4=4
a1/ OR
g Y J 39 01 wHErd & 2 Juor Yy B RdwareT 3 &t 6 frdar S |

What is plantation agriculture ? Discuss the characteristics and areas of plantation agriculture.

1+1%2x2=4

S I 21 A 22 TR F A w3 | TRFH T 2 IFHR |
Question Nos. 21 to 22 are related to map-work carrying 2 marks each.
fova v wra & syerey U 7T G- ) Ioe-qfmet & qmy Feeft w5% |

Attach the given outline maps of World and India with the answer-book.

21 fow e e 35 Y- T & frerfera e searees 4 sif iR
(31) @ad
(¥) @R
(@) fomm
(7) ierarer
Mark the location of the following copper production areas on the given outline Map of the

India : Vix4=12
(A) Khetni

(B) Udaipur '

(C) Singbhum

(D) Bhilwara
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22, fewme fo & Yan-wmte # ofefam 3a sei 85t ) 2t S -
(%) "EhAvs
(®) sad-ufEwh 9
(@) eftot-gef srefern
(R) wAE

Mark the location of the following dairy farming areas on the given outline Map of

the World : Vix4=2
(A) New Zealand

(B) North-Western Europe

(C) South-Eastern Australia

(D) Canada
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